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>( A network is simply a connelted graph.

)( Edges are called links

)( Vertices are also called nodesl or terminals.

Our definitions are simple, howej'rer.
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)( Evolutionary networks evolv on their own. examples:
netwoiks of friends, business as
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Here's the map of existing roads,
graph showing the cost, in mil
optic cable along that road.
cities, and (ii) minimize cost.
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sr Network
n another name fo

;* Tree
n Network with no circuits

*t Spannlng Tree of a network
n A subgraph that donnects all

a network and has no circuits
vertices of

The backbone of a minimum ork is a spec type of graph
and minimumcalled a tree. We'll look at the ies of t

spanning trees, and finally, we'l

Some formal definitions:

's algorithm.

)( Again, a network is a conn graph

>< A Tree is a network with no c uits.

>< A Soanning Tree of a n is a tree (no ci its) that connects
all the vertices of a network.
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